
Date: teak Date: teak

9 x 3 = 10.8 7 x 12 = 8 x 8 = 10.04831 12 x 3 =

7 x 7 = 10 3 x 6 = 7 x 7 = 10.89733 6 x 3 =

8 x 6 = 10.1 3 x 3 = 12 x 12 = 10.75002 12 x 4 =

2 x 12 = 10.7 12 x 12 3 x 9 = 10.16167 12 x 11

3 x 4 = 10.7 6 x 9 = 4 x 5 = 10.94376 8 x 12 =

5 x 3 = 10.8 12 x 6 = 4 x 2 = 10.14131 5 x 6 =

2 x 6 = 10.8 8 x 5 = 9 x 9 = 10.68864 6 x 4 =

12 x 11 = 10.1 4 x 12 = 6 x 8 = 10.0174 3 x 3 =

6 x 6 = 10.6 9 x 2 = 4 x 7 = 10.89507 9 x 12 =

5 x 4 = 10.1 12 x 8 = 10 x 12 = 10.82819 8 x 4 =

5 x 9 = 10.5 7 x 2 = 4 x 4 = 10.8054 9 x 8 =

9 x 9 = 10.7 4 x 6 = 4 x 9 = 10.40138 2 x 9 =

12 x 10 = 10.3 4 x 8 = 8 x 2 = 10.60398 5 x 12 =

2 x 4 = 11 11 x 11 = 11 x 11 = 8 x 7 =

7 x 4 = 11 12 x 9 = 6 x 6 = 10.38863 12 x 7 =

5 x 7 = 10.2 5 x 2 = 6 x 2 = 10.87846 5 x 8 =

9 x 4 = 10.8 6 x 7 = 3 x 5 = 10.60999 6 x 12 =

7 x 3 = 10.9 7 x 8 = 7 x 5 = 10.54282 2 x 5 =

5 x 5 = 10.8 3 x 2 = 7 x 9 = 10.60681 8 x 3 =

2 x 8 = 10.5 12 x 5 = 5 x 5 = 10.70177 2 x 3 =

8 x 8 = 10.4 3 x 12 = 12 x 2 = 10.88116 7 x 6 =

9 x 7 = 11 3 x 8 = 9 x 5 = 10.76304 2 x 7 =

4 x 4 = 10.5 8 x 9 = 4 x 3 = 10.05792 9 x 6 =

11 x 10 = 10.8 6 x 5 = 3 x 7 = 10.08287 10 x 11 =

132 ÷ 11 5 x = 60 42 ÷ 7 = 12 x = 72

42 ÷ 6 x 11 = 121 132 ÷ 12 = x 11 = 110

56 ÷ 7 72 = 9 x 48 ÷ 6 = 84 = 12 x

48 ÷ 8 24 ÷ = 3 56 ÷ 8 = 96 ÷ = 12

54 ÷ 6 ÷ 7 = 7 108 ÷ 12 = ÷ 7 = 5

96 ÷ 12 8 = 64 ÷ 54 ÷ 9 = 8 = 48 ÷

Time: Score: Errors: Time: Score: Errors:



Date: teak Date: teak

12 x 10 = 10.5 4 x 8 = 8 x 2 = 10.16188 5 x 12 =

5 x 9 = 11 7 x 2 = 4 x 4 = 10.58883 9 x 8 =

8 x 6 = 10.4 3 x 3 = 12 x 12 = 10.28291 12 x 4 =

9 x 9 = 10.4 4 x 6 = 4 x 9 = 10.97327 2 x 9 =

11 x 10 = 10.2 6 x 5 = 3 x 7 = 10.77066 10 x 11 =

8 x 8 = 10.4 3 x 12 = 12 x 2 = 10.90592 7 x 6 =

9 x 7 = 10.7 3 x 8 = 9 x 5 = 10.41636 2 x 7 =

5 x 5 = 10.4 3 x 2 = 7 x 9 = 10.1715 8 x 3 =

3 x 4 = 10.5 6 x 9 = 4 x 5 = 10.25932 8 x 12 =

9 x 3 = 10.9 7 x 12 = 8 x 8 = 10.58565 12 x 3 =

7 x 3 = 10.3 7 x 8 = 7 x 5 = 10.6038 2 x 5 =

6 x 6 = 10.9 9 x 2 = 4 x 7 = 10.6591 9 x 12 =

2 x 6 = 10.1 8 x 5 = 9 x 9 = 10.96377 6 x 4 =

5 x 3 = 10.4 12 x 6 = 4 x 2 = 10.61967 5 x 6 =

5 x 4 = 10.5 12 x 8 = 10 x 12 = 10.53387 8 x 4 =

2 x 4 = 10.3 11 x 11 = 11 x 11 = 8 x 7 =

9 x 4 = 10.3 6 x 7 = 3 x 5 = 10.19155 6 x 12 =

5 x 7 = 10.4 5 x 2 = 6 x 2 = 10.58218 5 x 8 =

12 x 11 = 10.7 4 x 12 = 6 x 8 = 10.92989 3 x 3 =

7 x 7 = 10.2 3 x 6 = 7 x 7 = 10.59463 6 x 3 =

2 x 8 = 10.7 12 x 5 = 5 x 5 = 10.53395 2 x 3 =

7 x 4 = 11 12 x 9 = 6 x 6 = 10.64957 12 x 7 =

4 x 4 = 10 8 x 9 = 4 x 3 = 10.66853 9 x 6 =

2 x 12 = 10.5 12 x 12 3 x 9 = 10.79465 12 x 11

110 ÷ 11 5 x = 45 35 ÷ 7 = 12 x = 24

48 ÷ 6 x 11 = 88 84 ÷ 12 = x 11 = 66

63 ÷ 7 81 = 9 x 36 ÷ 6 = 72 = 12 x

72 ÷ 8 36 ÷ = 3 40 ÷ 8 = 144 ÷ = 12

42 ÷ 6 ÷ 7 = 4 120 ÷ 12 = ÷ 7 = 3

60 ÷ 12 8 = 56 ÷ 27 ÷ 9 = 8 = 88 ÷

Time: Score: Errors: Time: Score: Errors:



Date: teak Date: teak

5 x 7 = 10.4 5 x 2 = 6 x 2 = 10.22624 5 x 8 =

9 x 9 = 11 4 x 6 = 4 x 9 = 10.58489 2 x 9 =

7 x 7 = 10.3 3 x 6 = 7 x 7 = 10.32571 6 x 3 =

12 x 10 = 10.7 4 x 8 = 8 x 2 = 10.48333 5 x 12 =

6 x 6 = 10.3 9 x 2 = 4 x 7 = 10.7217 9 x 12 =

9 x 4 = 10.4 6 x 7 = 3 x 5 = 10.11987 6 x 12 =

2 x 12 = 10.2 12 x 12 3 x 9 = 10.80622 12 x 11

9 x 3 = 10.2 7 x 12 = 8 x 8 = 10.07483 12 x 3 =

9 x 7 = 10.6 3 x 8 = 9 x 5 = 10.5337 2 x 7 =

5 x 3 = 10.7 12 x 6 = 4 x 2 = 10.36835 5 x 6 =

4 x 4 = 10.5 8 x 9 = 4 x 3 = 10.8453 9 x 6 =

8 x 8 = 10.7 3 x 12 = 12 x 2 = 10.69327 7 x 6 =

5 x 9 = 10.2 7 x 2 = 4 x 4 = 10.57704 9 x 8 =

7 x 4 = 10.5 12 x 9 = 6 x 6 = 10.74706 12 x 7 =

2 x 4 = 10.5 11 x 11 = 11 x 11 = 8 x 7 =

2 x 6 = 10.3 8 x 5 = 9 x 9 = 10.94654 6 x 4 =

7 x 3 = 10.8 7 x 8 = 7 x 5 = 10.76002 2 x 5 =

8 x 6 = 10.9 3 x 3 = 12 x 12 = 10.97621 12 x 4 =

2 x 8 = 10.8 12 x 5 = 5 x 5 = 10.50501 2 x 3 =

12 x 11 = 10.4 4 x 12 = 6 x 8 = 10.69887 3 x 3 =

5 x 4 = 10.9 12 x 8 = 10 x 12 = 10.02549 8 x 4 =

11 x 10 = 10.1 6 x 5 = 3 x 7 = 10.58015 10 x 11 =

5 x 5 = 10.7 3 x 2 = 7 x 9 = 10.82154 8 x 3 =

3 x 4 = 10.8 6 x 9 = 4 x 5 = 10.03251 8 x 12 =

66 ÷ 11 5 x = 30 56 ÷ 7 = 12 x = 48

30 ÷ 6 x 11 = 33 84 ÷ 12 = x 11 = 44

14 ÷ 7 36 = 9 x 18 ÷ 6 = 60 = 12 x

96 ÷ 8 27 ÷ = 3 48 ÷ 8 = 72 ÷ = 12

54 ÷ 6 ÷ 7 = 5 60 ÷ 12 = ÷ 7 = 12

48 ÷ 12 8 = 40 ÷ 63 ÷ 9 = 8 = 72 ÷

Time: Score: Errors: Time: Score: Errors:
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